Grade 7 FE1F 4k

1. 5(2x+8) = 10; x=?

a. -7 b. -5 c. -4 d. -3

2. I 52KIR5%5, 5TES3, If 52 means 5 x 5, work out 5°.

a.5 b. 15 c. 125 d. 225

3. 6287.64H3L HLELF ., Correct 6287.64 to 3 significant figures.
a. 6280 b.6290 c. 6295 d. 6300
4. IHEENG oth i Fr K HY % FAmRE, % RAREY, LHGRHAI #EE. BRENEELHFKHWERLLESZ LD ?
Mary spends % of her salary on rent, % on food and saves the rest. What percentage of the salary is saved?
a. 50% b.48% c. 60% d. 55%
5. Find the value of p. sRp F1H.
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a.5 b. 10 c. 15 d. 20

Answers: 1.d 2.c 3.c 4.d 5.c



Grade 8 FE2F R
1. #§1t (3a — 5b) — (4a — 8b), Simplify (3a — 5b) — (4a — 8b).

a. 3b-a b. 3+3b c. 7a+b d. 7a-13b

2. {#18 (x+3)(3-5x) = Ax2 + Bx + 18, #k HHAFIBAIE,
Find the unknown constants A and B such that (x + 3)(3 — 5x) = Ax? + Bx + 18.

a.A=-3, B=-12 b. A=3, B=12 c. A=-5, B=-12 d. A=-1, B=-12

3. B fE2x + 4x + 1, Factorize 2x% + 4x + 1.

a.(x+1)%-10 b.(x+2)%-4 c.2(x+1)*-1 d.3(x+1)*-4

4. FEFig. AfR, AFBE— 1R E#R . K HExFyHI{E,

In the Fig. A, AFB is a straight line. Find x andy.

D Fig.A

a. x=75°% y=122° b. x=78°; y=125° c. x=72°% y=123° d. x=74°; y=120°

5. 7£ Fig. BH, PQRSE — IR EFRE IR, $hit QFNRZ FEI B BE BEE .
In the Fig. B, PQRS is a straight road. Find the distance between Q and R.
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Fig. B

a. 108 b. 109 c. 110 d.111

Answers: 1l.a 2.¢ 3.¢c 4. a 5.a



